\ "‘"‘d ‘-Th' I A G e 9 O A5 & Sied Verb 07| Verb 205 sentence
aq |CT (essential part) F1a, snutaes verb a8 it sentence 15 708 ez 1|

[. A word indicating ‘Action’ is called [t wfiroraa enfarabi WEOTET-20]
) Noun b) Article ¢) Verb d) Vowel Ans:c
2. @3 sentence 9¥ araEy wet - [srrert e firs JsEeE-34)
_Thc essential part of a sentence is - [SUST 05-06, RU (1, 5= 15-16]
. I)'NOUH b) Verb ¢) Hard words  d) fecling Ans:b
3:~ Which one of the following is correct? [arerr® 7 S Aee-33)
a) Every English sentence must have a verb. erers Beate A awh fEmem 4w

b) Every English sentence should have a verb.
¢) Every English sentence has a verb. d) Every sentence has a verb. Ans:a

WATNETIYSRIR (@ verb W7 verb U SRty oI e A@d o 7 Fe i, Sie
Principal verb 3t Main verb %7 &&= : call, go, work &e5if# | 3137 principal verb G- A
SRS, (I T GFBAT verb AT ©f Wk Main/Principal Verb & | @1, Main/Principal
verb e (I sentence i 2T AT | @¥: [ am in class twelve. I did the work.

RE®, AT s/es TF GIHNT verb AT ©f WX Main/Principal Verb T &, A
Principal Verb € 5te? s/es T& 0 | @: Nothing lasts forever. He goes to mosque.

worwe, auxiliary verb @ ! verb % Principal Verb & | @%«: We should obey the laws.
~ ¢ did the work.’ Here ‘did’ is a/an — : [EPRa @ i S Feel-0s, U (H) 17-18]

& a) Auxiliary verb b) Weak verb ¢) Strong verb d) Principal verb Ans:d
5. No sentence can be formed without the- [RU 08-09]
a) Transitive verb b) Principal verb
¢) Factitive verb d) Intransitive verb Ans:b
6. Iam in class twelve. Here ‘am’ is- [IU () 10-11, RU (1, =) 15-16]
a) cognate verb  b) factitive verb ¢) auxiliary verb d) principal verb Ans:d
7. We should obey the laws. Here the verb ‘obey’ is- [RU (5R=) 07-08]
a) Principal b) finite ¢) non finite  d) auxiliary Ans:a
} Nothing lasts forever. What type of verb is ‘last’ in this sentence? [SUST 06-07]
a) Auxiliary verb b) Participle  ¢) Main verb  d) Modal auxiliary Ans:c

@ verb, principal verb & Tense, voice @R Mood ST TR, OIS Helping
verb a1 Auxiliary verb T | @¥: He has gone to school (Tense).

He was elected chairman (Voice). We should obey the laws of the country.( Mood)

Secafer ar@aret Auxiliary verb @@ st (iG 32f6 | 72l be, have, do, can, may, shall, will, must,
dare, need, used to, ought to = >3 | 9t primary auxiliary (= be, do, have) verb @3 3RYT 387 |
be, have, do verb 7z principal @@t Auxiliary SS¥HY RO ] | I @ofTw verb Rows ™
be, have, do verb €t 3y UIAT @@ verb T3q® 6T ©f principal verb T

Be verb am, is, are, was, were, be, being, been Have verb have, has, had

Modals shall, should, will, can, could, may, might | Do verb do, does, did
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9. Which one is used both as auxiliary and principal verb? [arern® pf Syt AN (mtf-rm).;:]
a) can b) would ¢) might d) am Ans:d
10. What is the number of auxiliary verbs in English? [smofie e Bo sy Fmst SfSCaa & ®.08)
The number of auxiliary verbs in English is - (1U (B) 15-16]

a) Eleven b) Twelve ¢) Thirteen d) Fifieen Ans:b
11. & s Primary auxiliaries 3ufS? (HSTU B 09-10, e Si ST (B a0)
a) oft b) 8 ¢) saff d) 30 Ans:b

@it Transitive verb o

Transitive verb:RIsieR v R e gs R IRCE R YRR oy,

Transitive verb @3 W% @aB1 dircct object d1#td | I verb af amfsna object 4 T direct
object T object FWE noun (phrase)/pronoun sy of3 Aay verb 4% 4 noun
(phrase)/pronoun < verb f @@i% transitive verb 27 s1ger I, IHIATE G 7F verb A g
ihim TRt W SwiE @ Transitive verb (v eg. 1 like it. I like him. Avoid it

Avoid him. Start it. Stop it. Enjoy it. Every mother loves her child.
12. He took shelter under a tree. Here the verb ‘took’ is [Berremt ol S FAwEL33)

a) Transitive b) intransitive  €) Both ‘a’and ‘b’ d) Neither ‘a’ nor ‘b’ Ans:a

13. Mother/Father loves me. Here ‘loves’ is an example of the - [Medical 22-23,
eefires st e (BT RSM)-04, i sy s (referan)-5.2, er-arafis sz fermas (Fafafforn)-veo)

a) Transitive verb b) Auxiliary verb ¢) Simple verb  d) Intransitive verb Ans:a

14. The boy reads a book. What kind of verb ‘read’ in the sentence is?
5 [PSC 04, RU (E) 18-19, AT Gifaw FHre et T3

a) principal verb b) auxiliary verb ¢) transitive verb d) intransitive verb Ans:c

15. He writes a letter. In this sentence ‘write’ is a-
[T weR Y GifiR (TEBE WRET-n9, efe-afirs 2T firas (Ir)-38, (IfFTart @ioT)-3u]

a) Principal verb b) Auxiliary verb ¢) Transitive verb d) Intransitive verb " Ans:c
2T @@ verb YA @32 GT6 object A BT Principal verb @?® Transitive verb TR 2|

womTe FU5TZ ARATE, object (AT AT AAWESNR verb Bt Transitive verb fTavar #a1% e |

e wE T FACS & verb @7 object TS 2F A1, ©ItF Intransitive verb

= | AT verb @7 7@ @A word W KT WA verb @ AT adverb AR WA VY preposition

e verb 0 ===0% Intransitive verb 23 | ZS A, (T A verb @7 AT it 79 IR here, there I

=iz 2% Intransitive verb (vi) e.g. Come here. Go there.

16. Mother laughs. 37#7 Laughs = Sagad? (49 Brr Wfiwera (@fes yetraoiiwm, AemEem-33)
a) Intransitive verb b) Auxiliary verb [emfie e firws (wifemn)-)
¢) Transitive verb d) Causative verb Ans:a

17. ‘Huffing anc! puffing, we arrived at the classroom door with only seven seconds to
spare.’ In this sentence the verb ‘arrived’ is-

: n 1e 41" BCS
a) 1rftran51t1ve b) transitive  ¢) causative  d) defective | A S‘a]
18.  Which one is intransitive verh? [Areen Y S Wiw;l ']

. ' < (7 q)-3¢
_ ?) raise _h) lay ¢) set d) rise Ans:d
’ lie, rise, sit Ztvz intransitive verb 94 lay, raise, set 2¥ transitive verb | |
19. The doag;ﬂ(f;pened automatic:ally. The verb in this sentence is --- [~ifeearet wfimera o

Afewrer ( i, Aree-efafis Aeari fawa (cewibr)-38, JKKNIU (*) 16-17 ﬁﬁﬂ“‘ftﬂmm?ﬂmﬁ

a) Transitive b) Intransitive ¢) Linking d) Non-finit o
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30. River flows. What Kind of verb ¢f

‘Nows® is?
Fire burns. What Kind of verh : (RU (rerzmmrreant) 05-06]

‘Durn’ - i
RU (IR 07-08, (k-frrwig) 15. 14, i VoS VHRIO8 BSMBITI (D) 1314,

” " JKKNIU (%) 16-17, (AL) 18-19
a) Intransitive b) Transitive ¢) Causative ]

21. _\\-hich of the following is NOT g tv
a) auxiliary verb B
¢) semi-auxiliary verb

d) Copulative Ans:a
pe of incomplete verh? [1U (C) 11-12]
b) intransitive verb
- @) being verb Ans:b
[ intransitive verb €T Sy @ sreydfars) wef evare wars MA 513 Sltwars complete verb a1 @ |

. £
Mb &7 object/complement wrey TmfaTet ok et dars otz age BT inc

omplete verb
22. Shesleeps. Here the verb ‘sleep’ is a — I:EIU () 02-03]
/7 a) Transitive verb b) Linking verb ¢) Be verb d) Intransitive verb Ans:d

m S verb a3 @3fura object (f%/78) AT ot direct object %A |

ca: He was reading a book. He likes me. [ met him in town. I saw him today. They made
him captain. He called me a fool. a@7et=mts a book, me @2 him =095 direct object (od)

M verb @7 BT object AFE A4RTS 29w object B indirect object (oi)
«=x e object © direct object (od) & | ATtz RS verb ¢ “Fiw/a T (to/for whom)’ arat
e wTE BER RO (T object #heat T @Bt indirect object =@ W@ ‘fF (what) 4T & Saw A
@ object *T€¥ T 6T direct object A | (8F: She gave me a book. Give him the money.
Coffee exports earn (=give) Brazil many millions of pounds a year. He gave the class a tough
assignment. Give it a try. IFTATS me, him, Brazil, the class, it = indirect object a3
a book, the money, many millions of pounds, a tough assignment, a try 0% direct object (od)
23. ldentify the underlined item in the sentence. 'Whom do you like most?'[COU B 08-09]

a) Subject b) Indirect object ¢) Direct object d) Relative pronoun Ans:c
«% 2% whom 205z 93 object ©1% @ty whom 2052 direct object (indirect object ¥)

24. ldentify the underlined item: What did you tell her? [COU B 09-10]
a) predicate b) question ¢) indirect object d) direct object Ans:d

7zere Indirect object G direct object @« At AT | ATRTA ATRE WIT (P preposition ITT = |
#few : | presented her with a rose. He provided me with a fan. He supplied us with food.
iz direct object @t @A @4k Indirect object G P G 4 to T ¥ &=y A for ITT |

Sub + verb + oi + od He gave the class a tough assignment
Sub + verb + od + to/for + 0i Mrs. Walker has returned the wallet to its owner.
~ Choose the correct sentence. [RU English 09-10, RU () 18-19]
a) | presented her a flower. b) | presented a flower for her.
¢) She was presented a flower by me. d) | presented her with a ﬂower.. . Ans:d
present (S#gr@ owar), entrust/invest/trust (vifarg cal), provide/supply (G @) +oi +with + od
| fe) 04-05
26. Mrs. Lubna has returned ---- - [RU (WITW“ ) 04-05]
a) the wallet to its original owner b) to its original owner tbe' wallet .
¢) the wallet to its originally owner d) a wallet back to its original owner s:a
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27. The professor gave —.
He gave — /She gave —
a) to the class a tough assignment
¢) the class a tough assignment

[DU (C) 05-06, cum
[RU (E-cag) 15-16, CU (D) 11-12, (B-1) 15,5,

b) a tough assignment for the class
d) an assignment tough to the class.  Ang.,

[JU (C1) 19-20, atestire s A S0t FYATT A Ty

28. We gave — a meal. ‘ ™ A
a) for the visitors b) at the visitors €) the visitors d) to the visitors it n:c
29. Rahat gave — a book. ‘ o [MBSTU ( ))\6-17]
a) at the friends  b) to the friends ¢) his friend  d) for the friends ns:c
Rule: Sub + vt + indirect object + direct object .
2 subject 1M a#% 7f 5

verb @ ==t adjective (phrase) 94al noun (phrase) 49

I @RIT TR QUF WA A7 2 W91l object

sadt adjective (phrase) W4al noun (phrase)

@R object I @8 TfE It W @RIT &7 T& adjective F¥IT noun (phrase) ¢ complement 3z
e.g. He became a doctor. He became angry. The desire for publicity became his Achilles heel,

It was painted red. I painted it red. She’s made her position
Object @ Complement @3 TGIST AT 4I¥

very clear. He called me a fool.

object Wi noun WLST pronoun 2 |

complement FT4E@9® noun WL adjective ST

object ¥3r subject 7t foq g |

e.g. He helped me. I love you.

G, reflexive pronoun &A% subject 4%
wieg gl € pronoun I YRS object
T | e.g. He killed himself.

i) subject €3t subject complement 43

ii) object @<’ object complement 4FZ JF

e.g. i) He is a fool. Honey tastes sweet.

ii) I called him a fool. We made him captain.
He was called a fool. He was made captain.

30. Shakespeare is a playwright. Here ‘playwright’ is used as- [¢ w@eemza e aded-0g]

‘He became a politician.” Here ‘politician’ is used as- [z waei=mma 72, Ar@r@r (Bifee)-3q]

a) Object b) Subject ¢) Adverb d) Complement Ans:d
31. Itis difficult to pass this admission test. Here ‘difﬁ_cult’ is — [RU (w€3f%) 09-10]
a) noun b) adjective ¢) adverb d) complement Ans:d

subject 9k complement 4F TSl verb & Linking verb I | @@=: to be,
become, look, seem, remain, appear, make, run, go, grow, read, turn, taste, feel, smell, weigh
constitute, equal, represent 2951w | He will make a good player. The weather has turned cold.
The milk smelled/turned/went sour. The lady grew tired of waiting. My bags weigh 45kg.
A metre equals 39.38 inches. His explanation sounds reasonable to me. I feel sorry for him.
I to be verb IM fATa 9w @IEA verb, linking verb TS T ©f to be verb ¥ FNEE T T
AR O ST A W5E adjective T T 9k adjective O IS FACS JLJ |

Honey tastes sweet. = Honey is sweet. The dog went mad. = The dog was mad.

32.  Hebecame a politician. Here ‘became’ is a/an: [RU (A, @) 16-17]
a) transitive verb b) linking verb ¢) action verb  d) intransitive verb Ansb

33. Honey tastes sweet. Here ‘taste’ is a/an — verb. [TU (=&F) 04-03]
a) linking b) intransitive ¢) non-finite d) none Ans:a

34. He went mad. This verb is : RU Al 19-20]
The boy went mad. Here ‘went’ is a --- verb, [ IU (B) 13-14]

a) transitive b) intransitive ¢) linking d) stative ; Ans¢
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VPNT &/ 9

R

M T lmransiti'\Tc“Q'e}'b" J“mi\deClchm A T
tive verb e 1 aowe® Linking verb vt a1 cnvr: go sl atam o go mad sl oom zaw

u
0 ST
0¥ Jog went mad.) come S S8 come true @ ey zean (My dreams came true.)
( 1ot kind of verb is the word ‘went® , ' ‘ .
s W hat DU () 9599 't in the sentence “The dog went mad’?
J o B Cousat 9 KUET 06-07, 11wy sfwazas wap nawifl-30, sa o0 arupis faaw-39)
a) Transiive ) Causative  ¢) Copulative ) Factitive Ans:c
c@ verb GRS ARt e ' .
i RS verb st g | , far @ Afaefs 479 02 s Inchoative
Pl ' bt ’_CC""‘°~ come, go, grow, gel, fall, run, turn, wear %214 |
Linking verb @R He got tired. He became rich overnight, His dream came true.

e soon fell asleep. He has fallcn ill. He grew tired of waiting. The milk has turned sour.
wWhich sentence uses inchoative verb? (CU (F) 12-13, Medical 22-23]

a) He was king b)Itisdark ¢ Heis weak  d) It is growing dark Ans:d
U @l transitive verb e word aa e et o direct object & @

o d ST T A1 A1, O factitive verb 3w | &9 sp»1y wares wfefas o word @7 amree 70
= factitive object = objective complement 3t | r:

Subject Factitive verb direct object | complement
wel(s)he call/called/calls him/me a (fool/liar/genius
we They selected/elected/nominated/chose/made | him chairman/captain

/ . . .
Sctive verb 73 SITeTeE passive T objective complement & subjective complement Z&
<7 &= verb ¥ linking verb W AW AV: We call him a genius. PV: He is called a genius.

37. They elected him captain. Here ‘e_lgcted’ is — [RU 09-10]

a) Transitive verb b) Reflexive verb

¢) factitive verb d) Causative verb Ans:c
T intransitive verb ©T2 noun form el TGS GHA noun &
75777 ©T@ cognate verb 0T | ¥ I object 51 cognate object ’«1}'“1 :j el
33, Idreamt a wonderful dream. [Frz1aT AR (mwmﬁm;ﬁ%;i-». iasm;sm (F) 12-13}_

a) Retained object b) Cognate object

¢) Reflexive object d) Factitive object Ans:b
39, Which sentence of the following is an example of cognate object?

2) He called me a fool. b) He teaches us English.

¢) I know him to be a coward. d) Rani sang a song. Ans:d
4. Heran a race. Here ‘ran’ is a — verb (b e fraws-do]

a) Causative b) Copulative ¢) Cognate ﬁ Factitive Ans:c

Il verb @ /@ preposition 1 transitive
phrasal verb/yerbal idiom/prepositional yerb/group ﬂb

(noun/pronoun) %914 w1 Transitive verb farca adi &l AT R
41." She takes after her mother. T g ez St s ()-2]
4 ? verbal idiom  b) phrasal verb ¢) regular verb fl) intransitive verb Ans;b

+ Jan turned down the chance to work abroad. The underlined part is- [IU®B) ,l i;a]

8) phrasal verb ) regular verb ¢) linking verb @) irregular verb ~
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Need. Dare, used to 231 &7 modal @7z main verb W;ﬁﬁf:: :::
@ et @viats Semi-modal verb 2@ T Dare, need @@ #24 not + verb @7 base :tﬂ: m A |
interrogative sentence @ atwa #37€ verb @@ base form @1 @@t s4% Modal verb

F Modal verb @3 =uma @va =109 s, es @l ing ¥% 20 7l @4 Atda A% to 4 A

How dare you touch me? (Modal verb) He dare not touch me. (MOda: verb) past form T
Dare, need @3 <t€ do not, does not #50A w94t awa AMd § 7% 207 A4q1 AL ;

g g fersta 47959 27 |
W @R T 10 + verb @ base form 23 @31 Principal verb 2o .,@m s, IU (B) 18-19
43, Which of the following are semi-modals?  [fasfs z4= 335 ooma framt #7315z, v,

a) Can, could b) need, dare  €) will, would d) must, should Ans:b
44. Karim need not think of a job. Here ‘need’ is a — verb. (e Tz frwsos)
a) Principal b) Finite ¢) Full d) Modal Ans:d
45. Which of the following can be used both as a modal and a main verb? [JnU (B) 10-11]
a) Should b) Would ¢) May d) Dare Ans:d
46. Which of the following can be used as a ‘modal’ as well as a ‘main verb’? [COU 09-1
a) need b) do ¢) could d) mind [Medical 22-23] Ans:a
47. He dare not touch me. Here ‘dare’ is a — [RU 08-09]
a) Semi-modal verb b) Main verb ¢) Modal verb d) Pure auxiliary verb Ans:c

(7%= verb W= subject e <1er st ¥7, Sttt Common verb 251 |

48. He did it. Here ‘did’ is — [RU 03-04]

a) Common verb b) Pro-verb ©) Reflexive verb d) Causative verb Ans:a

A text-book of Advanced Functional English-Mohiuddin and Kasem 7. Causative Verbs page 6 &=

¢ ¥ verb Wl subject TR firer St M 0w wwTE i <=l v v
causative verb I | @F7: My mother feeds me, (ST 1 S AMeqTH)
CFIT intransitive verb 799 causative verb et BISE)
CR==: (T2 X105 | - The horse walks.

SR FOE verh @7 9% w0t I0ATR |

A O 9 transitive verb =7 7% |
1 careiioes e g = | - He walks the horse.

- Common verb Causative verb | Common verb Causative verb

_Eat (<rezm) Feed («1emmm) Know (@) Inform (T==)
| Dive (g omm) Dip (war) See (o74r) Show ()
| Learn (c=ram) Teach (c=rm) Remember (=me @) | Remind (R T3 )
Fall (g mem) el (e o) | Rise ) Raise (o1

Lie (o arar, «rgy) Lay (et 4rar) Sit (1) Set (ZI*1 1/<571eaTT)
(7 7% verb @7 causative form &% e o

Right form of verl we 1
49.  Dip, Feed, Fell, Raise, Sef erb W, 498-502 sjbra]

| d 06-07]
a) Transitive verb b) Intransitive verh ¢) Causatj .

! . ausative verb @) Factit: §:C

50. ’He raised his hand. Here ‘raised’ is g — verb, sy Verbﬁwﬁ;‘:: »]

a) copulative b) cognate ¢) factitive d e '

) causative
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s1. W““’Mmmwﬁmm
[ s whhowmn. o, R 0209, TU (C) 11412, gy ACmTI AT
.lhlvcellyou B 1 ent et you "fecdym, (C) hay i et
52. What type of verh ‘make’

J in the following sentence f5? [SUST (C) 08-09, RU 09-10]
My mother makes me take the medicine. (5502 30 W 3w/ 2y Aramr)

Auxili .VWaek .Stmng .(,afu_qange_ & Ans:d

"Witich one b not » stative verh?
) See

.Tacte o

Ans:e

' 3 v'vl}\’:

Sl

Bl A A

| See hear fecl smc]l umc
ences Honcw tastes sweet. The rose smells sweet. | feel tired

A .‘_.'-‘_ -. E ;n:;-:::l -—Alw s VES & 4:4“ 4
| Love. hate, like, believe, forget, appear
nces crybody loves his mother. loﬂcn forge

GEM _.}- J-H\l._'vlq"'; Ly "L"H - lug—:}y._lyl:‘,

m Be (am, is, are, was, were, be, bemg, been) become remain
sentences  We arc Bangladeshi. He is a brave boy. I remain silent all along.

T event (Action verb/Event verb): #1& %71 a9 | 5@ Tense & 745

e

our name.

wjj , Laugh eat, go, know, do Sentence: He goes/is going to school
f Honey tlstes sweet. What is expressed by the verb ‘taste’? [RU srrmsmzarr 09-10]
#) state of emotionb) state of being €) event d) state of perceiving Ans:d
55. Event Verbs are used in —- (IU (B) 13-14]
' progressive form b) non-progressive forms
g both d) none Ans:c
56. Which one is an enmple of an intransiﬁve verb" [KU B 19-20]
#) The painted their fences green. b) My family moved to another city.
&) We believed the boy. d) He gave the papers to the lawyer. Ans:b
57. My vounger brother has become a lawyer, The underlined word isa  [IU (H) 17-13]
#) linking verb b) causative verb
l transitive verb d) non finite verb Ans:a
56. 1 t 4 sound sleep and felt better, The underlined word is [lU(G) 17-18]
‘ inchoative verb b) verbs of perception
@) cognate verb d) reflexive verb Ans:c
f Pick out the sentence with causative verb., (el wgls¥fa-0q, NSTU (D) 15-16]
#) She is eating rice b) The letter is being written
€) | shall get the work done by him @) Honey tastes sweet Ans:C
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.
60. Which one is transitive verb? [ eI SR AT TS ’f‘:r::;’(:f:’?;i-oq, |
i) The baby sleeps b) To err is human ; : -1-3]
&) Fire burns d) The girl takes after her mother it ns:d
61. ‘She m;l—ks_thc cow.’ The intransitive use of this S'T:‘(;nhccr- [TU (H) 17-18)
2) The cow milking her. b) The cow is milkec ‘c A
E)) The cow is miIki\g. d) The cow is being milked her. - Ans:c
62. Identify the sentence where the verb is used Intransi.ti\fely. e (L) 16-17)
i) He spoke the truth. b) 1 feel a severe pain in my head. -
©) Ring the bell. d) The ship sank rapidly. o it ns:d
63. He is called a genius. Here the verb is — ' (P (C, ) 16-17]
d) non-finite Ans:c

b) intransitive ¢) linking

i) transitive
vl Elaborations: S = subject; O = object; N = noun; Lv = linking verb; vt = transitive
verb: vi = intransitive verb; C = complement; od = direct object; oi = indirect object

64. The structure of the following sentence is: [afgarsieT @ APTCA Al FZHA Afars-38)

They made Karim the captain.
a) subject + verb + object b) subject+verb+object +complement
g) subject + verb + object + object d) subject+verb+comp]ement+adverb
65. Subject + transitive verb + Indirect object + Direct object.
a b) He gave a book to me.

Ans:a

l) He gave me a book.
£) He gave a good book. d) He gave a book which was good.
‘S+LV +Adjective complement’?

Ans:b
[KU (B) 18-19]

66. What is the correct sentence for the structure

a) She is an innocent lady b) She looks like an innocent lady [TU B 17-18]

©) She looks innocent d) She is looking an innocent Ans:c
67. What is the correct sentence for the structure ‘S+LV +Adjective complement’?

a) Bannya has fallen 11l ‘b)' Bannya has fallen an ill girl [IU B 17-18]

¢) Bannya has been falling ill d) Bannya has turned to be a fallen woman  Ans:a
68. What is the structure of the sentence 'I was walking in the morning'? [IU (B) 16-17]

a) S+ VI+Adverbial b) S+ VT+Adverbial

g) S+ LV+Adjective d) S+LV+ Prepositional phrase Ans:a
69. ‘Which is the structure of the sentence "My mother named me Aquib"? [IU (B) 16-17]

a) S+ VT +10 + DO b) S +VT + Obj. + Adj. complement

€) S+ VT + Obj. +N. Complementd) S +VI+ N. Complement Ans:c
70. Identify the structure of the sentence: ‘They elected him their leader.” [1U (B) 10-11]

a) S+ V+0O +N-complement b) S+V+O+Adj-complement

£) S+V+0O+Complement d) S+V+O+Direct Object Ans:
71. _‘He writes a book.’ Pattern of this sentence is- -

a) S + vt + Direct object b) S + vi + Direct object oo

€) S + L-v + indirect object d) S + L-v + S. Complement Ans:a

. + ' ' -
72 :;CR;;::: -; du:g m";]-'n \:(;)IC]I one of the following sentences matches the structure above?
) » having a birthaday. b) I am to go to send .
. L _ § a letter., [Wrfie sz fires-0d
€) Rahima has gone to the city. d) Rana having a party went to the zoo Ansjl
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7. il?len:? became a doctor.” The sentence follows the structure- [IU (%) 05-06, 08-09]
a) subject + verb + object b) subject + linking verb + noun phrase

) subject +transitive verb +object d) subject + intransitive verb + adjective Ans:b
74. }dcntify the structure of the sentence: ‘She left her luggage behind’ [IU (B) 15-16]
a) S+ Vt+O +Preposition b) S+Vt+C+ N complement
c) S+Vt+O+Adj Complement @) S+V+O+ Adverbial Ans:d
(P preposition @ =L noun/pronoun =t A ot adverb/adverbial T 16 3 |
75. Sub+ verb + Indirect object + Direct object.

[IU 05-06]
a) Karim sent me a flower., b) Flower is sent to me by Karim
¢) I sent a flower to him. d) Karim was sent a flower by me. Ans:a
76. Identify the structure of the sentence: ‘Shanzi presented me a flower’ [IU 10-11]
‘I have been teaching you grammar.’ The structure of the sentence is—  [KU 08-09]
a) S+Vt +Obj +C noun b) S+Vt +Obj Indirect+Direct Obj
¢) S+Vt +O+Adj Complement d) S+Vt +0 + N-clause Ans:b

77. “The milk got bad’ the sentence follows the structure-
a) Sub + verb + object b) Sub + intransitive verb + noun phrase
¢) Sub + intransitive verb + adj.  d) Sub + linking verb + adj. Ans:d
Gerund ((¥<1) TR verb +ing €< verb ¢k noun 93 ¥1& ¥ | 7€ @ T noun 92
T 9B MY noun ¥F TS JIZS T | FI gerund ((SAE) TR noun @ FL 97 2A |

[IU (B) 09-10]

ﬁ’,f A verb that acts as noun is called : [PreTal Sfanerd e ¢S 1 fBor-3b]
i a) participle b) gerund ¢) adverb d) noun Ans:b
79. How gerund is formed? [ et Afafeder (FWV) effredi-o, se, JKKNIU () 15-16]
a) Verb+ing b) Preposition+ing ¢) Noun +ing  d) Adjective +ing Ans:a
80. Gerund is similar to — [QreEiont Ff 5T SEF-00, KU 06-07]
a) noun b) adjective ) verb d) adverb Ans:a
verb (2t& Terg Zrene gerund Yo© noun € & FCE I gerund (F noun AT AL I IR 491 I |
_8¥" Gerund is related to — [RU (F#fB2) 09-10]
7 a) pronoun b) verb ¢) adjective d) adverb Ans:b
82. A ‘Gerund’ does the work of — [DU (C) 00-01, RU (=) 07-08, BSMRSTU (E) 14-15,
JKKNIU (%) 15-16, wfi @ B fért afirerm amfe-2)
a) a verb and a noun b) a verb and an adjective
¢) a verb and an adverb d) a verb and conjunction Ans:a

T T e a T gerund IS noun SIZ noun & FIAGTCS I gerunds G FAGTEICS 07 |
m Subject of a verb: verb 47 subject fard verb+ing et ©f gerund ((BA1%) A |

83. Working in the morning is good for health. Here ‘working’ is 2.1/2.!n - [ S 35)
a) pronoun b) adjective  ¢) gerund d) presex}t participle t.f,ns:c

}1. Reading is an excellent habit. Here the underlined word is a . (38 BC.S]
a)Verbalnoun b) Participle  ¢) Verb d) Gerund Ans:d

85. Swimming is a good exercise. Here ‘swimming’ is a/an— ‘i [ Ml SR frE-3a)
Walking is a good habit. Here ‘walking’ is a/an—‘[mf@wwmiw,ﬁmawwaﬁam)-s?]

a) noun b) gerund ¢) verb d) adverb Ans:b
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86. Swimming is a good exercise, Here ‘swimming’ fs- i [NU (mﬁx)AH.l.Sl
Wpariciple __Wnominal__ i gerund o [l nfnitive_________An
| &t a pood exercise #9f g1 5@ wm good exercise (a ’117:‘7) goo . XerCise
TR, TN (Y Wees @ wfEnd) e s s sEtE #1w) ’FW? cxcrcn;«c .l uncountabq
noun ¥ T B AUF@ exercise @3 W a/an FA A AT cxcrcmle a7 plural =7 3t army,
exercise (F countable noun 90T exercise @3 wT classiﬁcr (furm/km(l/ty:wc) Fof 1255 oy |
Swimming is great/good exercise. Walking and :qwin'nmr.lg are hot:ll goor( exer(;lse, |
Swimming 1s a good/great form of exercise. Swnnnrmg is an exce 'cnt orn.1 Ol exercise,
' Swimming is my favourite form/kind/type of exercise. (my favourite exercise #)
F. He found parking is difficult. Here ‘parking’ used as — | [stnfars sz P
B Past continuous ﬂ Gerund ) Participle  d) ngrcssn./c tense Ang:h
NOTE: ». found @@ =2 that @7 | 3. parking €9 is @¥ subject 313 parking 2t gerund (cerars)
88, —is considered a serious crime. (@R €AY 4y B w1 @351 MewfeF worarn) Dy 12.13)
®) Shoplift b) Shoplifting ¢) Shoplifier  d) To shoplifting Ans:h
'Ohjecl of a verb: Transitive verb (vt) @ object farma verbting a9 gerund 7,
N.B. 5 (@ verb @ #ta it 301 GBI vi; e.g. | like it. Avoid it. Start it. Stop it. [ enjoy it.

J

89. He contemplated marrying his cousin. Here ‘marrying’ is a/an- [43™ BCS)
The underlined word in the sentence ‘It has stopped raining’ is-  [wde RIS o XYY
a) verb b) gerund ¢) infinitive d) present participle Ans:b
90. He started teaching Hamlet. Here ‘teaching’ is a — [RU (A-farsrg) 13-14)
fl) verb b) noun ¢) participle  d) gerund (czTs) Ans:d
91. Do you enjoy teaching? The underlined word s - [*r72@ TEITT Bf5ors wfwdion,
RU (cmaermar) 10-11, (F-wfw) 17-18, wirea Stz wﬁmaas-m,ﬁfammmﬁrmm-u]
&) a noun b) a participle ¢)a gerund d) an adjective Ans:c

92. He avoided making the same mistakes again. The underlined word is a/an —
(C7 IR GFT TAGTE T “Afazy FA)  (ffeT et foms wRet- ov, gt Ser-wart Afa5Tr-30]
2) auxiliary verb  b) object ¢) participle  d) gerund Ans:d
Object of a preposition: Preposition @a object faria verb+ing T O gerund T
%€ in, out, inside, outside, about/around 94l adverb 20T sre wate wore e verb+ing f&
present participle 222 | arm: He walked out smiling. He came in running. He went out crying.
93. I have no objection to walking. The underlined partis an example of- [KU B 19-20]

@) an infinitive  b) a gerund ¢) a participle  d) a morpheme Ans:b
94.  There is no eredit in carning money illegally, (Stassita e Soirsm @I $foy @1R)
The underlined word is- [CU (B-2) 12-13, KU (B) 14-13]
#) present participle b) gerund ¢) verb d) Present continuous Ans:b
95. The customer grew (o) tired of waiting, [#ifacae Sfmeraa e “fore-04)
He is fond of playing ericket, Here 'playing' is a - [BSMRSTU (D) 14-15]
#) verb b) gerund €) noun d) present participle Ans:b
96. By working hard, you can prosper. Here ‘working’ is a — [DU A 11-12, JKKNIU C 11-12]
a) Participle b) Verbal noun €) Gerund (cais) (1) Infinitive Ans:c
97. Giving is better than receiving, Here the ‘receiving’ is a/an — [RU (E) 11-12]
Mon noun b) adjective  ¢) gerund d) present participle Ans:C
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mﬁ‘;'?l@ié exs: be verb @ T gorund (verbHing) 1 G e i TR
T g, » Walting, running, ridip i ing I LT
95, My favourite activiey b boa g, gardening, teaching Sl complement 21

i S | Ng. Here 'reading' is a- [wr4g: mz:free-o03, KU 07-08, TU 10-11]
';) O.b'le?t believi b) Complement ¢) Gerund d) Verbal noun Ans:b

¥ eel;].iclts fe levmg_ (W feaet ). Here ‘believing’ is — (e “ffamoras cifew SiFTe-o¢,
g) VJECL DL pIeposIvon b) object of transitive verb Trgfirs el fres-ov]
¢) complement of verb d) object of subject Ans:c

As ?Tllmrtl?]f cOmlilound nou{\: a walking stick (= a stick for walking), a swimming pool o

100. 30.0 man _ as a walking stick.’ the underlined is example of- [COU (A) 19-20]
This isa walking street. The underlined word is a/an-- [NSTU (C) 15-16]
a) participle b) gerund

¢) verbal noun d) adverbial Ans:b
[ After determiner/adjective: determiner @R adjective @7 T noun < T verb+ing

et gerund T 1 e.g. No smoking. No parking. A little learning, some/a lot of shopping

can’t help, can’t bear/stand, it’s no use/good, worth,q;, 9% It verb-+ing 3¢ ©f gerund _

Taeg. I ca.rmot help smoking. 1 cannot bear/stand hearing her cry. It is no good/use arguing.
There's nothing worth reading in this newspaper. It is no use trying to escape.

Infinitive 2t verb @3 base/basic form 24t to+base form | 9T%& base form &

bare infinitive W3R to 31X AT ©IF to-infinitive/full infinitive 6T 1 verb @= base form @3 ¥
'to' 9 full infinitive /67 37 | ©12 @ to & Infinitive marker I 1 Infinitive 97 use 42 0 |

== 1. simple infinitive (4f6 noun @s ¥1% 3wx) @32 2. Gerundial or Qualifying Infinitive
Use of Simple Infinitive | Example

1. Subject of a verb To err is human.
2. Object of a verb He likes to swim.
3. Complement of a verb | To see is to believe.
4, Object of a Preposition | He is about to die. We eat to live. It’s good to eat.
5. Objective Complement | I saw him go. Absolute: To qualify a sentence
simple infinitive TS <150 B noun ¥d We j9ze =¥ | To tell the truth, I don’t trust you.
101. The base form of a verb is called —
a) an infinitive  b) weak verb  ¢) strong verb d) transitive verb Ans:a
102. ‘I will not let you go.” In this sentence ‘g0’ is a/an- [0 T5F SFE FISTSTR [o SRoAGF-9)
a) infinitive b) gerund ¢) participle ) verbal noun [41*BCS] Ans:a
103. We want to take legal action against the hoodlum. Here in this sentence ‘to’ is a/an-
a) Adverb  b) Infinitive marker ¢) Preposition d) Conjunction [ &&-3v] Ans:b

Use of Gerundial Infinitive
Adjective: To qualify a noun
This house is to let.

Adverb: To qualify verb/adjective

[IU (B) 05-06]

104. A simple infinitive does the work of a/an — [TU (C) 15-16]
a) Adjective b) Adverb ¢) Noun d) Verb ' Ans:c
105. Iloved to play chess when I was at college. Here ‘to play’ is a/an  [RU (A, @r@) 16-17]
She loves to cook Chinese dishes. The underlined word i‘s.a/an [PUST (A1) 16-17]
a) participle b) noun ¢) gerund d) infinitive Ans:d
106. To err is human. What is the underlined part called? N [TU 03-04]
a) Gerund b) verbal noun ¢) infinitive d) participle Ans:c
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et @7 | fe8 anfiee ¥ adjective @y ?tmﬁ,;ﬂ

.‘ i rticiple YR perfect partjq: ., |
B St i t participle, past pa Tticip)
‘& aualify 3@ | Participle f&7 &< | T9I: presen % TR et ¢
fNoC}rE- gérﬁciple‘ verb, adjective ®ENs adverb, preposition L;z;:gv:cx;w WW gt
AT st 2 A\ bkt S et RN T . g
107. Choose the correct sentence. [’I’«‘T’;" 9 ’T‘T’Tgn and partly-aa iy AR, o¢]
a) iciple i d which is partly a nou
a) A participle is a wor o d partly a noun.

] s & . h' l l's a ; ;
b) A participle is a word which 1s p lya verb and partly an adjective.
a verb and partly an adverb. Ans:¢

©) A participle is a word which is part
;"; ;! . . . . 3 l
d) A participle is a word which is partly - e nsie
[T R oI, Present participle T verb + Ing .C‘”C" iffe @R adjective G verb @3 3
07 | 5§ aRfiFerT 37 adjective 9R T noun (F qualify ¥ |
108. Present participle performs the works of - o [t =t ﬂﬁf‘ﬂ“ﬂﬁ’r—)o]
5) noun & adjective b) verb & adjective

¢) verb & adverb d) verb & noun L _
In the sentence ‘A barking dog seldom bites’ the word ‘barking’ does the function of

b) Noun and adjective [ATEO-15)
d) Verb and conjunction Ans:c
Use of the Present Participle
Article 3 noun 47 W verb+ing 377 noun (& modify FFCT present participle T3

9T verb (3T Ty X adjective 9 e ITH 90T present participle & verbal adjective 3 z3
[RU (A, @r3) 15-16]

[RU (A-even) 13-14]

Participle wrer ¥¢d adjective UEH

Ans:h

109. In
%) Noun and verb

¢) Verb and adjective

110. A rolling stone gathers no moss. Here ‘rolling’ is a--
I helped a drowning man. Here ‘drowning (Gr¢fR)’ is a :
a) verbal adjective b) gerund ¢) verbal noun d) perfect participle Ans:a
111. A rolling stone gathers no moss. What ‘rolling’ is? (11" BCS, <t fersr SfEmsim (TEO)-»s,
JKKNIU A 12-13, InU A 13-14, BSMRSTU (F, a1f%0) 15-16, [U C 15-16, @i1-2eifics 5w s (2137)-so,
RU Al 17-18, DPEwé’rﬁTw-w, rifirs szt fers (8¢ «rfra)- s, T I TofA PO S Ao5F-30]
a) Gerund b) Verbal noun c¢) Participle ~ d) Adjective Ans:d
‘rolling” participle & noun “stone’ @3 *t€ 37 stone = qualify Farz w13 rolling 2tz adjective
T W o G AR NS SO 1 | S Wi efon @1 S 9 745 4T A o |

112. Education is the most pressing need of time. Here the word ‘pressing’ is [RUE 11-12]

a) verbal adjective b) gerund ¢) pronoun d) none of the options Ans:a
113. P_o not get into thg running train. The underlined word is - [RU (F) 15-16]
a) Adjective b) Verb ¢) Adverb d) Conjunction Ans:a

114.  The nightingale is a singing bird. In this sentence ‘singing’ is a/an-
[JmT fémet w58, BSMRSTU D 18-19, IrETTr eretag SEUH-20)

115 :) Vefbal noun b) f?reru.nd ¢) adverb d) participle Ans:d
: : SWimming snake bit him in the leg. Here ‘swimming’ is a [RSfera wfie sr2rae-25]
hj(:,:r(:)talgit()ﬁs‘vn f;om a running train. Here running is a - [KU (Srafeeam %) 12-13]
Intransitive verb e (m.a)c) nfinitive d) participle Ans:d
116. The rain ca & (go, come, die, lie, run etc.) 97 stz present participle 37 |
- A mf! Mg down in torrents, (R g 3 STCET) 7
a) Present participle b) Perfect particip] [RU (Law) 06-07]
¢) Past participle d) None participle =
: ns:a

E——
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‘She went awa " B
m—f Y dancing.’ Here ‘dancing’ is ; [KU (érafaem 57) 04-05)
R

/7 Wanadjective b a per o ‘
.)Prcp(;‘sition + )ol:l : L’«‘U\ll\d Son it s present perticipie ATA
POSSEssive 3 e gerund o1 e.g. He insisted on my going there. |

@ Pronoun 93 AR possess "
zt e.g Please oblige nmpl(:;&lblblwc I A B17 o8} verbrting 75 word 5 present participle
*8* c > Oy all leaving the room, (5t .
118. The underlined words here- (TR 3 St A AP S/ ot )

‘Ihave doubts about this happening at all’
(ISR @Bt Wit @ Aptetica g s @ww)  [RU (wee) 02-03]
a) (ilct““d b) .P““iCil)lc ¢) Possessive case d) Verb Ans:b
Adverb Wt "f"b +ing 3 modified 27 weg w1 present participle 24 | 7ZFSIL T am,
Adverb @ 7 verb +ing U ©t present participle 2 | Truly speaking,------- (7} TS, -----)
1/19 Suddenly finding himself alone, he became frightened. (arifis srewrd fres (B from)-oe]
4 a) g.erund b) past participle ¢) present participle ~ d) adverb  Ansic
Simple @ 7t Fle e Simple sentence 47 9FTS Uy FHF present participle 2 | ‘
120. Riding a horse he went to a distant place. Here riding is — [#ran SEaTE-39)
a) a gerund b) verbal noun
¢) gerundial infinitive d) present participle Ans:d
124. Opening the file, the detective took out a newspaper cutting. Here’ opening’ is a/an
7 a) Gerund b) Noun ¢) Present participle ~ d) Adjective Ans:c
7 Comparison between Present Participle & Past Participle
Person (& modify ¥ past participle @< thing & modify ¥ present participle T |
e.g. I am interested &€ It is interesting. =%+, I am thrilled &% It is a thrilling story.

122. Tt was a very — situation. (51 43 Rgesa =4S fe) [CUD 13-14, DU C 18-19]
It is always — when you misunderstand the customs of other countries. [DU C 10-11]
a) embarrassing b) embarrass c) embarrassed d) embarrassment Ans:a

123. He is quite — with my progress. [CUD 13-14, BRURD 16-17, TR 7 SRR @6 AfRrfe-23]
a) satisfy b) satisfied ¢) satisfaction d) satisfactory Ans:b

124. 1 needed something to read in order not —. [CU (D) 13-14, (C1) 15-16]
a) to bore b) to be boring ¢) to be bored  d) to be boredem Ans:c

AT 0% tda & 1 & modify F90e 203 1 ©1R past participle IR 00 T |
AT o S Ry G951 gl v feT Are (@) Ra® 71 23 1 ; boring-Rafew, bored- e |

125. The class bores the students. Itis a — class. [CU (D) 10-11]
The film is really —. (zrareff AferR feafeaq) [BU (A) 13-14]
The TV program was s0 — that I fell asleep. [CU (D) 13-14]
a) borring b) boring ¢) bored d) boreing Ans:b
126. She seemed — and ill at ease, and bent her head. [JnU (B) 13-14]
a) embarrass b) embarrassingc) embarrassed d) had been embarrassed Ans:c

127. Hamlet, written in early 17™ century, is as alive and — today as it was nearly 400
years ago. 99l Shakespeare’s plays are as alive and — today as these were in his

lifetime. [ TR @ elfitrel TR Sl oifBTT-o0 4/ (FeT FEIRA FAET-04]
a) appealing b) appeal ¢) appealed d) the appeal of Ans:a
128. The movie was — (bore) as soon he became — (bore). [JUST (F) 16-17]
a) boring, boring  b) bored, boring ¢) bored, bored d) boring, bored Ans:d
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it 2. an interesting mg,

R NGtk e N vk ety el R :
1 ac , a drown
(S @), an irritating/annoying ha%ﬂaﬂ%ﬂ :g:;)l; l-q(m | e.g. a burnt child [y A
o . ast partic ‘F £
WHTCE, noun B action receiver & 1 p' . English [e1t% Sxtafe; w
W c'lm’ mt:m Fire ceifea], a written test [examince A ¢77], Sp"]:’" ’fm e o\‘,]]
. 5 qq 8 7 i!Fi (& P
129. The license of — drivers should be bmm]fd. d) drur[lkcd Ans;c
=t ¢) drun )

a) drinking itk ::{d;;:(kcn WC)W 7| co: Drunk drivers are ;1 mcna:jce to
QU “WrerT Wod drunk to other road users,
everyone. Drunken drivers pose a serious threat (= cause a lot ofha:gz (D) 04-05, RU (D) 13-14
130. There were — reactions after the Bill was passed.

. BN . Ans:c
- : . B mixed d) missed
a) a mix b) mix €) mix (U 10-11]
131. He passed a (write) order. (¢7T 93 l?”%.q ™ qm‘ ')t Ans:d
a) to write b) wrote €) writing il written

7 /IRt forat = 3ee ey @b action receiver ©1F @3 %7 written 2 _' . |
dlirez:iiﬁiiou:: verb 9% #f¥30$ noun @7 3% participle I | Belat;‘i’:epio;lg:
<3 == verb 5 Active voice @ 9 present participle "icif &g verb 0 Passive vSOme b
past participle 3 | @%7: There is a man living (= who lives) next door to n:(.i Lt i:
people invited (= who were invited) to the party .cag’t. come. Srfloke created (= which jg
created) by fire pollutes air. The man sitting (= who is sitting) there is happy.

132. The tall gentleman — by the door is the bank manager. ' [DUC 19-2.0]
a) who standing  b) is standing ¢) stands d) standing Ans:d
133. Some of the people — to the party can’t come. [JU (%) 11-12, RU (D-Even) 13-14]
Some of our persons — to the party will not come tonight. i [KU (3rfe= %) 08-09]
a) inviting b) invited ¢) who invited d) they were invited Ans:b
134. The bridge — recently for the railroad has been found faulty. [BU (¥) 15-16)
a) was constructed b) constructed [KU (A) 07-08]
¢) has been constructed d) has constructed Ans:b
135. An inflation rate is only 4 percent — a big difference to export. [JKKNIU () 15-16)
a) make b) making ¢) are making  d) makes Ans:b
136. Which one of the following is a correct sentence? [t et w1 (TEO)-08]

a) The old man is there happy sitting,

b) The old man happy there is sitting,.
€) The old man there sitting is happy.

d) The old man sitting there is happy.  Ans:d

137. There is a man — nex¢ door to me. [CU (E) 06-07)
a) living b) who live  ¢) who lived d) is living  ¢) lived Ans:a

&) @ who lives 273 | ¢) who lived W% 2o 7t qref There was a man wry YE 79 |

138. The wind made such — noises,

that the children hig under the bed. [NU (arfren) 11-12]

a) fearing b) frightening ¢) frightened d) fierce Ans:b
Ear - foeer = ey, frighten- wwyze oy AT o7, St /el EEINRCIES frightening =77 |
139. ‘The people badly — relief

materials were g
a) needed b) needing
140. Natural resources

athering at the unigp council premise.
‘ eding d) were needeq [KU(A) 07-08]Ans:b
Provide the raw materjals to produce finished goods.

a) needed b) are needed ¢) which need d) needing [JU (A7) 13-14]Ans:2
MASTER

90 )

CamScanner



https://v3.camscanner.com/user/download

/' i N R s
i People — in vnllagc§ do not get many of the

 1ive T ‘ urban facilities,
h) live - ‘b) weliving  living 1 five [KU (A) 09-10]
142. The man —in the accident was taken ¢o hospital ‘[JKKNIU( 15-1 o
AT o ‘ - ) 15-16, o7 ;
rThe pREsSEEet In the accident is now in hospital T s
a) injured D) had injured &Y he: Spital. [KU (A) 08-09] Ffwé1-03]
a) - = jured ¢) being injured d) who injured Ans:a
I— ¢°r"“‘| AR Present p \ '
Gembde s T
m‘ verb+ing G A0S qw TR vorh Present Participle

Present participle, verb +ing cireet sif5e qae
verb O3 S adjective a7 TG #0A |

Adverb &3 #ta verb +ing 4% ot present
participle 23 | Truly speaking, ---

i) v+ing @ “ta @9ar v+ing +preposition
AR & (I phrase 47 *C7 9 G verb 1
(U@ subject A@ v+ing f& present participle
2d | Walking a long way, I found the shop.

@ noun 93 I I | S Off e noup
mivc @ AR verb +Hing AR o gerund
= Structured teaching facilitates learning,
i) v+ing O S WA v+ing + preposition
FEAT! T& (ST phrase 99 =@ 575 @3 verb
gt v+ing B gerund 29|

Walking in the morning is good for health.
Riding a horse is my pz.lssi_onate hobby. Riding a horse, he went to a distant place.
He found that parking is difficult. Parking the car at the gate, he went inside.

ii) Transitive verb (vt) T v+ing T ©f ii) Intransitive verb (vi) 4 “Ta 94T vt +
gerund X | e.g. He started teaching Hamlet. | object €% %t v+ing 31 I present participle
He avoided making the same mistakes again. |21 e.g. The rain came pouring down in

Do you enjoy teaching? I learned drawing. | torrents. She went away dancing.
N.B. @ 5@ verb @9 #Itd noun/pronoun I The girl entered the room laughing.

SRIE T05% vt | FEE T, (X TF @F #IC it e | N.B. (757 verb @3 it 70 = here, there
9 o3 =0 Transitive verb (vt) e.g. 1 ©1A1R TR Intransitive verb (vi)

I like it. Avoid it. Start it. Stop it. Enjoy it. e.g. Come here. Go there.

iii) preposition &= At v-+ing T O gerund | iii) objective ¥ At v+ing T ©F present
Z@ | By working hard, you can prosper in life. | participle 3 | e.g. I found him sleeping.

There is no credit in earning money @ AT ST possessive (R, @ (this,
illegally =T, possessive A 7 v+ing T ©f | that, all etc.) SIRI A& v-+ing T ©F present
gerund =< | e.g. He insisted on my going participle 9 | e.g. Please oblige me by all
there. Excuse my interrupting you. leaving the room. (e 3 STt T WA Tal )

iv) complement fZ0Ca v+ing 7fey FICEE A iv) complement fRBT v-+ing 6T (FIF noun
(reading, walking, waiting, riding, teaching, |pronoun & TRl AT ©f present participle
gardening) CATH ©T o1 gerund A | 7@ | e.g. The scenery looks charming.
e.g. Seeing is believing. (74w frdM 77) It is interesting. The story was thrilling.

My favourite activity is reading/gardening. The discussion was enlightening.
v) v+ing 3 noun @% A4 4R compound noun | v) article @t noun W4l verb+ing I noun

@R v+ing & gerund 203 | AUFCA A S | Qe e/ o/ ey e AT present
noun &7 T4 S e.g. a sleeping room (et | participle 2 le.g. | helped a drowning ($39)
99), a writing table (¢T4= ¢ofaen) man. He gave a telling (¥149) speech.

N.B. continuous tense @ J<ZS v-+ing 2K present participle T | e.g. I am working now.
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L AR TR Y (300 A
/mm 701 orEee ©f perfect pamcm,

Having 97 [RU (L
Having 99 - Loy 4
ained truth, keep truth. ¢) Past participle  d) None Son

articiple
3, Havin S perfect particlp 3 g
143 mmpk' (hy)cmnd) a cd the @ 1 of T T SIE verba] g, 18 |

a1 ¢ | like the reading of gyyy.
o e bt oo 10 P efuse + al = refusal l(gv fnghsh'
Verbal noun ¥ vero verbal noun 31 e.g. reluse erbal oty
wia, verb + sujﬁ\' < (verbal noun) : Judge + ment = Judgement (vc;t::l ngun) ;
discover +y = d|sc0\tl)f( lowing is the example of verbal noun? [e frt afima.ag gy (g
144. Which onc of l‘lw (]" KU (S) 15-16, Sot-=y Afs-25, BRDB Q?WQ@WM.M
o difficult.b) The writing of a good letter is difficult,

NG § y))d ]Cl(Cl'iS . ¥ A Lo ¢
a) \} riting 1‘1?\ ‘-ming is difficult. d) It is very difficult to write a good letter, Ang;
¢) Good letter W [IU (B) 1314

5. Verbal noun is close l'o——.. | | N
145. :)"pqct Participle b) Adjective  ¢) Gerund d) Present Participle Aot

I like travelling to different places of the world. In this sentence the \;Jl;all noun js.
a) travelling b) visit ¢) world d) plac.es . [ 8-19] Ang;,
147. The reading of books is a good practice. Here 'the reading of isa  [SUST (B, 12-13]
The reading of history is interesting. (3fS2R7 7o SF™wa) (KU (Srafawsr 1) 12.13
The reading of history is interesting. QI reading F RO 395 A7 [arfirs 7z, Fro-30]
a) verbal noun  b) gerund ¢) present participle d) simple verb Ans:a
148. Which of the following is active with verbal noun with preposition & object? -
a) | saw him go to the garden b) Amina & Joy made us laugh [Medical 10-11]
¢) I am to make a telephone call  d) We went to see the launching of the ship  Ans:d
Participial Prepositions: barring/excepting/excluding (but, without, apart from, =g, F7ers,
T, TW ), concerning/ regarding/respecting (about, as to, with respect to, ¥, rAN),
considering/given (for, in view of, fatasamT), Failing (without, =1 %), Following (after, 19),
gone (past. *itz, (7fTaATR), counting/ including (with, 7z, twe), notwithstanding (despite,
¥eEe). pending (until, */¥), Saving (but, I7dre, ”9l), Touching (with regard to, TE) Togfn
participle €% noun phrase <3 & I Preposition o7 1 97 | e Szt ot _:
Barring accident, the parcel will arrive tomorrow. (A1 A ZeeT AGT® W (=)
Considering the quality, the price is not high. (s fasarm wiy ¥ )

He was released on bail pending further inquiries. (Seweq onw *rfs o I I orart 2#)

It is gone six already . (3feary v 454 zumez) Given his age, he is Very active. (337 fatasamn o [ i)
Touching this matter | have not as yet made up m

= poun ¥8

146.

ing his father’s death He died following th
: : rning children are deal( with in a special children’s court,
149. ‘(.all me if you have any problems regarding your work, Here ‘regarding’ is a/an
. :?hgcmn? . b) appo?“'()r_l ¢) preposition d) conjunction [41*BCS] Ans:c
- There was a smal) reception following the wedding
I'he word “following’ ip the above jg a/an - .

#) preposition b) adjective ¢) adverb d) noun [39™ BCS]
I151. Which part of speech is the worg ‘Regarding’y [efeq Ansi
a) Adverb b) Preposition ¢) Verb ¢ 0 Nou.:T T FifSferr 51 wira-su)
MASTER T Ans:b
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/ i i
ow nothing regard IS matter B
152. Ikn g regarding this matter., Here ‘regarding’ is a -

y= , [RU (G) 16-17, wmofirs @ Bwh A

d . -17, @ Bofirmt wfiaca .
) -cun'un b) rcposmon €) Apposition d) Conjunction % A i:])

participle a IBLTIE assuming, considering, providing/provided Wnsi-"ﬁ

a7 7@ clause IWT complex sentence 197 CEINY e,

onjunction & e w7 |

y mc.f Here the underlined word is a/an-[41" BCS]
¢) conjunction d) verb

153. ‘I shall help you provided you ohe
a) adverb b) adjective

l\\‘ Special Rules of Gerund an Participle Identification e
m Article/Determiner @R noun 93 wiat gerund 93 present participle 17 Bt |
Present participle &, Article + noun + jg + verb+ing w4t A2 | (@sita 1t F4t coteet ot
Gerund =, IS Article : e

+noun + for + verb+ing #at e |

Participle : A swimming snake (= A snake is swimming Z#, A snake for swimming = )
Gerund : A swimming pool (= A pool for swimming =, A pool is swimming =& 1)

Participle : A sleeping baby (= A baby is sleeping zm, A baby for sleeping za )

Gerund : A sleeping room (=A room for sleeping =, A room is sleeping Z )

Gerund : A sleeping pill (= A pill is sleeping = =11, A pill for sleeping Z&)

FRE ¥, €SI meaningful present continuous tense %41 (e Present participle 264, & =1 %1

ot gerund XS | ST, AUFCE @y part of speech BIZE AT GTHA THSTAR T4 adjective Sz
gi&te gerund @R participle 70612 adjective 2 |

154. 1 joined a riding school. Here ‘riding’ is a : [KU (arefae %=1) 10-11]
;,i) gerund b) participle  ¢) verbal noun d) infinitive Ans:a

E complement R verb+ing FITed 7w T ©f gerund 2R | 7€ FiTeg 14 4t ¥ verb+ing

TR &4, =, ST ITES *% T ©f participle 203 | GTH@ AT participle (RE adjective TR

€3 7% very A IE € gerund @TRE noun I AMHET® gerund @9 S very A A A |

My favourite activity is reading. His profession is teaching. What I detest most is smoking.

TeeTeTS reading, teaching, smoking 26z TIE W €< QUG TR T very 0T I

Examinations are (very) frightening. The discussion was (very) enlightening (SIS, W),

The film was (very) entertaining. She is always (very) entertaining.

2eyeTTS frightening, enlightening, entertaining 02 TS =1 (SIS W 79) |

m 5 7 @ gerund 97 (% what At =i participle 99 CF@ how A oy o B ﬂj‘smm |

His profession is teaching. (91 ¢l fare@)  Education is enlightening. (BT seere, =)

ersr: What is his profession? (S ¢ f&?) ©wa: teaching. (S1F ¢ F‘/TWW)

ere: _H__o_\;is education? (f=1 (F?) ®ad: enlightening. (WIS, WANY, WTAF)

Sy, veE SAmeTETE Tedy complement STEY AR Tadq complement T |

155. Education is enlightening. Here ‘enlightening’ is: [37™ BCS]
a) A gerund b) A participle ¢) An infinitive d) A finite verb Ans:b

m HLEIGS @ noun/pronoun A #t verb+ing (modifier) = O Present _pftrticiple
7@ e.g. It’s Runa speaking (on the phone). I saw a woman speaking to him. (participle) :
156. The girl dancing is my daughter. The underlined word i-s -a - [NSTU C 14-15]

a) Gerund b) Participle  ¢) Preposition d) Infinitive Ans:b
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157. *The old man is tired of walking’. Here ‘walking’ !s a/an | ) ( Al;nc?]

P a) present participleb) adjective &) common noun d) gerunc ’('leﬁ o Bs'd

158, Thc word ‘flying’ in the sentence ‘Look at the flying h'r:diaz-inﬁnitivc Angsg
-~ a) gerund b) participle ) verbal nomlli d()‘ %:Orurd o theunetionot T

159. Flying kites is my favourite hobby. The underline PO sfmece : "

a) verb b) adverb ¢) adjective d) noun Ans:a

Gerund. object e s9a @3 #@@ adjective/adverb w1l modified ’Jf’-: ot vcrt)tcflai:r?rﬁ:f Wl
¥ ¥% gerund phrase 5 noun (phrase) it 1@ 304 | C!W?T Repifil‘ ng (';‘ “t’a by }’l .Jol:)_
Heating the clay makes it hard. He started teaching English. He is good at sp g English,

th
160. 'A lost opportunity never returns.' Here 'lost’ is a- . [407 BCs]
‘ 3 rticiple  d) gerundial infinitive Ans:c
a) gerund b) verbal noun ¢) particip ‘ . TR
161. A retired officer lives next door. Here, the underlined w!)r'd lls used as a/an: | AnSSL
erund b) adverb c) preposition  d) participle -
lost, r:t)ir(?:dr:m TSI :)ast participle W article @9 noun @ Fqraet @@ word & adjective
162. What is the correct use of gerund? [>uoT a5 frmt-sa)
a) ] saw the girl dancing. b) I am dancing on the ﬂoo.r.
¢) Dancing is a good exercise. d) The girl came here da_ncmg. ‘Ans:c
MG: Dancing is good exercise. (a 3tw) @24l Dancing is a good form/kind/type of exercise.
163. Going there he found his friend absent. Here ‘going’ is a [F3fs faaws waemmy
7 a) gerund b) present participle TAZHI AL 33
¢) noun d) past participle Ans:b
164. Swimming is good for health. The underlined word is a [RU (C) 16-17]
Walking is good for health. The word ‘Walking’ is [JnU A 16-17, T 9t 7Re-39)
a) Gerund ((&=1€) b) Participle  ¢) Phrase d) Clause [JKKNIU ¥ 17-18] Ans:a
165. — eggs were served to the players. [ s 7nf-sy, TS e TEeET et et
a) Boiled b) Boil ¢) To boil d) Boiling Ans:a
166. Making a good result in the exam needs a lot of hard work. Here ‘making’ is a -
(2T SICET] Moot F40e et AfaIeel o~ Wl 7) (A frsas (et we)-sv]
&) present participle b) pronoun  ¢) adjective d) gerund (s1®) Ans:d
167. He started reading. The underlined word is called: [wifara sifaegm serd/sifameie-sb]
a) verb b) participle  ¢) gerund d) infinitive Ans:c
168. Tom rather —. What shall we do to cheer him up? [RarBa's crsaam -39
She always makes fun. She js never --- with anyone, [BU (D) 15-16]
a) depressing — b) depressed ) depressingly d) depression Ans:b
169. Walking in the morning is good for health, This is: [DU C 01-02, «ifiqr sifaegen wfimea-58,
) an example of gerund b) an example of infinitive IUF 15-16]
€) an example of participle d) an example of verbal noun Ans:a

170. The Harvest moon is the ful) Moon nearest the equinox — g period of several days

when the moon rises after sunset: [*tr@eer e e (TSO)-3¢)
a) It brings b) bringing ¢) for bringing d) brings Ans:b
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17 ‘Rez:i(.img.ls n goc;d habit.’ Here ‘reading’ is a —, [LGRD waetorcm ot et (Ffe)-39]
aaing iIs one J

S ' the best means of developing language skills, [BSMRSTU (D) 17-18]

J_S‘{nokmg is a bad !l?blt. Here ‘Smoking’ is — [1U (D) 17-18]
a) verbal noun  b) verb B perund 47 ores in] Anisic
172. T found the boy reading a book. Here ‘reading® | ) present participle | _.
4 ading’ is- [crreram Bot-sEHi ATAEA (GTRAWI)-0Y]
a) Present‘partlclple b) Noun ¢) Gerund d) Verb Ans:a
7 apartcipte s eponisnce Walking i good for health’ s (refimfrese s 2]
k o ©) an adjective d) an object Ans:b
174. Taking exercisc is a good habit. Here “taking’ is [RU (E) 18-19]
a) Present participle b) past participle
¢) gerund (CSHI) d) perfect participle Ans:c
175. Don’t disturb a sleeping baby. Here ‘sleeping’ is a : [RU (A) 18-19]
a) gerund (1) b) verbal adjective
¢) verbal noun d) perfect participle Ans:b
176. We enjoyed swimming in the river. Here ‘swimming’ is a/an: [RU (A2) 17-18]
a) verb b) infinitive fc) determiner d) gerund Ans:d
177. Hearing the noise, the boy woke up. Here the word ‘hearing’ is a/an- [Medical 17-18]
a) noun b) participle  ¢) verb d) adverb Ans:b
178. He was born in 1980. What kind of verb is it? [RU (A) 18-19]
a) transitive b) intransitive ¢) linking d) non-finite Ans:b
Wrb ¢F ATF object (noun/pronoun/noun equivalent) 7t AT verb 5 intransitive verb ZJ |
179. He is fond of fishing. The underlined part is a/an- [BSMRSTU D 18-19]
a) gerund (C5@1%) b) participle  ¢) verb d) adjective Ans:a
180. The movie is a — one to watch in the cinema hall. [BSMRSTU (E) 17-18]
a) bored b) bore ¢) boring d) none of them Ans:c
181. Ilike reading literature. Here ‘reading’ is : [COUB 17-18]
John likes gardening. ‘Gardening’ in the sentence is — [TU (B) 12-13]
Ans:d

a) main verb b) modal verb ¢) participle ~ d) gerund

182. The machine made in Japan is now working well. Here ‘made’ is
a) Present participle b) Past participle
¢) Perfect participle d) Simple past

183. Can you smell an odour? The underlined word is -

a) verb of perception b) cognate ve.rb
¢) inchoative verb d) quasi-passive verb Ans:a

184. Reading history makes one wise. Here ‘reading’ is [COU (C) 16-17]
Watching television is my favourite pastime. The underlined word is- [PUST C 15-16]

[COU B 14-15]

Ans:b
[IU (G) 17-18]

a) Gerund b) Verbal noun ¢) Past participle d) Present participle Ans:a
185. Betrayed by his friends, he started living alone. Here ‘betrayed’ is a:

a) gerund b) present participle [RU (A, R=eg) 16-17)

¢) verbal noun d) past participle Ans:d
186. Muslin was a fabric — by the famed weavers of Bangladesh. [DU (B) 04-05]

a) woven b) weave ¢) wove d) had woved  Ans:a
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187. Which of the following sentence does not have a ger und (¢ . 2?. (KU 08-09)
a) I see a sleeping child. b) Walking in the morning is good for health,

Ans:a

©) He fancies visiting the Eiffel tower. d) Please stop w.ritiﬂ
188. The Canterbury Tales, written in about 1386, is as alive 2

nd — as it was nearly 6
(PUST (C) 15-16,JU (1) 17-1g)

years ago. | :

a) appealed b) appeal ¢) appealing d) the appeal 0 Ans:c

189. Which one is correct? ' [BU (D) 15-16)
a) She was boring in the class. b) She was bored in thfa cla}ss.

She was feeling boring 1n the class. Ans:h

¢) She fell boring in the class.

190. I walk because walking is a good ex

ercise. (a WW)
verb - gerund d) verb- adverb

[MBSTU (D) 14-15

Ans:c

";\) verb- adjective b) verb - verb ¢)

he Conjugation of Verb ; :

= verb (*t= verb &7 Past form ' Past participle form 9 sfFa€a@ conjugation of verb acq,‘
conjugation of verb I TS RS RS WA verb ST wETl o %41 ZA | T41:

@ Strong verb 3t Irregular verb ® Weak verb a1 Regular verb

@ 57 verb @7 TSR vowel @ ARFECT AT AL CICT 0, €n, ne Zen
=2 past form @33 past participle s15+ 91 70 SIS strong verb 3T irregular verb I |

cg==: Chide—Chid—Chidden; Cleave—Clove-Cloven; Cling—Clung—Clung, Take-Took-Taken
@ 5% verb @7 ¢tT d, ed, t 29I (% A past form AR past participle 7157 F1 7@
=metE weak verb 31 regular verb 30T | (@5 : Creep—Crept—Crept; Dream—Dreamt—Dreamt etc.

191. Which of the following is a strong verb?

[t afeTairet A (TS TET)-35)

a) Run b) Walk ¢) Make d) Jog Ans:a
192. The baby sleeps. The underlined word is a — verb. [ATETT (ToTEd RN AReHl- 39
a) neuter b) transitive  ¢) passive d) regular Ans:d
193. Which is an example of strong verb? [fiom <sfapste AfbarTa (Swam 7AZ31)-5v]
a) sleep b) fill c) believe d) forget Ans:d
194. Which one of the following is a regular verb? [KU (Grfeem ) 16-17]
a) Began b) Knew ¢) Taken d) Wanted Ans:d
195. Which one is a weak verb? ity [RU 08-09]
a) Chide b) Creep ¢) Cleave d) Cling Ans:b
|
Present form = V; past form = V,; past participle= V; :
IXI V2 Vs Vi V, V3 el
I Abide (#=1/am =) | Abode | Abode Awake (ST#ITT) Awoke Awoken |
| Arise (<) Arose | Arisen | Act (re %) Acted Acted
[ Bear (3% %) Borne/ | Bid (wtowet ) Bade Bidden
[ Bear (&3 %41) Bore Born : : :
Bind (<r4r) Bound Bound
[Eeat (&%= F41) Beat Beaten Bite (?Tiﬁ.mm) Bit Biﬂm
LBecome (Re7) ] Became | Become Bleed (7% @7 zenn) | Bled Bled‘,/
5?:::; (:3“[) ] Befell | Befallen | Blow (arepy 367 Blew (3) Blown |
<>
et
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o SR

gllend (ﬁ"ﬂF\T) FL‘ Vi ‘ IR Vg
Bless (PEW w)ﬁ% gieﬂded Break (Srr) Broke Broken
Beget ¥ | Begot |3 essed | Breed (e o) Bred Bred
Begn T T | Bogan | s g (T Brought | Brought
Behold @) | Bohold | Fror— (Gl B L il
G , cheld Bury (339 ) Buried Buried
Believe (P31 | Believed Believed | B ht Bought
Bend (I Bent = uy (¥ F410) Boug g
196. Awake 9% past participl = s e T ctel Hepiet
i Awaken b Aip e @517{1%‘? | [ FTEe-35)]
197. The past participle of f::;l;e:, ©) Awaked  d) Awakei Ans:b
8) bled Bibieced o TR 08,8,
198. The present form of the verb ' Bl bleeded M bledariet Angia
erb 'Besought' is- [BRUR (C) 15-16]
a) Besight b) Beseight ¢) Beseech d) Beseecht Ans:c
199. What is the past form of ‘blow’? ik [IU (5) 05-06]
a) blowed b) blowt ¢blew ()  d)blewd Ans:c
200. The past ParthlPle of ‘beat’ is - [ﬁaﬁﬁﬂﬁ?ﬁmﬁﬂﬁz-om 313 TEECEA T SPRAEF-o¢]
a) beat b) bitten c) beaten d) bit Ans:c
201. f_l;egtt’ =={5x Past form @G? [IU (s7%) 04-05, et ©r Rerot CIPBT-20]
a) Beat b) Beaten ¢) beated d) Beten Ans:a
202. Point out the past tense. Bite (?ni%)) v [RU 06-07]
a) Biten b) Bit ¢) Bue d) Bited Ans:b
203. The past participle form of ‘Bear’ is-. [MBSTU (D) 14-15]
a) Bore b) Borne ¢) Borned d) Bear Ans:b
204. ‘Bear’ *¥ioq past participle - (e S e (STRfee)-33]
a) Bore b) Bear c) Born d) Beard Ans:c
205. The thief who broke into our house was — by our pet dog. [DU 06-07]
a) bited b) bitten c) biten d) bitted Ans:b
\'"A V, V; Vi V, V;
Catch (€31) Caught | Caught Cleave (form cw=1) | Cleft Cleft
Chew (-foaieam) | Chewed Chewed | Cling (GTst 4<) Clung Clung
Chide (fezwm=an) | Chid Chidden | Clothe (3=1@ *t) | Clothed Clothed
Choose (g% 1) | Chose Chosen | Come (SPT) Came Come
Clap (zrwetfar ¢ram) | Clapped _C’lﬂ)gtﬂ_ Dream (% ¢T3) Dreamt Dreamt
Dare (31231 %40) Dared Dared Drink (A9 F1) Drank Drunk
Deal (35327 F41) Dealt Dealt Drive (BIEITT) Drove Driven
Die (i, wrat aenr) | Died Died Dwell (307 %4) Dwelt Dwelt
Dig (¥ 1) Dug Dug Dye (3R F) Dyed Dyed
Draw (& <) Drew (§) | Drawn Deliberate(fw=t =) | deliberated deliberated
@ie (T, wmm)_dles__dled——dled——dymg . Dye (3= ¥1)-dyes—dyed—dyed—dyeing
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206. Which of the following s a form of ‘die’? X Sttt o °m3)15161
ij dryad b) dye c) dying d) dicing Ang,,
207. Choose the correct past participle form of ‘Drink’? [NSI @z ‘f"iﬁiﬁm.“]
R) Drank b) Drunk ) Drunken @) Dronk Angy
208. What is the past participle form of the verb ‘Choose’? [ #tifet Byt CANTET A gy 3
R) Chosed b) Chosen g) Choosing  d) Chase Angt
209. What is the past participle of the verb ‘come’? ) (7218 Bt Ay )
R) came b) come ¢) comed d) camed Angi,
210. What is the correct past pamuplc form of ‘draw’? [DU (B) 02_03]
a) drew b) drewed ¢) drawn d) drawed Ange
211. What is the past participle of thc'\_’grb ‘Dwell’? [RU 08-09, HSTU (A) 5. -16]
a) dwelt b) dwelled  ¢) dwelted d) dweled Ans:g
vV, vV Vs \Z Vs Vi
Eat (Q0eT) Ate Eaten Forbear (%3 %) Forbore Fom
Fall (#ite ahea) Fell Fallen Forbid (fa«/arn ==r) | Forbade Fom
Feed (ns¥1t) Fed Fed Foresee (efeae ¢74t) | Foresaw Foreseen |
Feel (Sgs3=a1) | Felt Felt Forget (gt=1 aream) Forgot Forgotten |
Fell (o= 321 Felled | Felled | Forgive (%1 #a) | Forgave Forgiven |
Fight (T= =21) Fought Fought | Forsake (@it <) Forsook Forsaken |
Find (3% =) Found Found Found (g~ =) Founded Founded
Fling (Fe#=1 %=1 | Flung Flung Freeze (wtw aneamr) | Froze Frozen
212. The past participle of the verb ‘Fell’ is-

[v=1fEod @ e Sfimeras Smaare- -38]

a) felt b) fallen ¢) felled d) fled Ans:c
213. “Fed’ is the past form of the verb — [ATEO-15, mewﬁwm-«]
a) Food b) Find ¢) Fight d) Feed Ans:d
214. Past participle of ‘Freeze’ — N - [IU (D) 14-15]
a) Freezed b) Freeze ¢) Frozen d) Freezering Ans:c
215. eat 9% past form @F=G? [~ =gt wfives, ERIE R o THI/RTIGT-3))
a) ate b) eated ¢) eaten Ans:a
216. Identify the past participle of the word ‘fling’. [RU (Z=.3ferz31) 07-08, (srecamimearst) 09-10]
a) Flang b) Flung ) Flungen d) Flunged Ans:b
217. :l“he present form of ‘felt’ is — [RU (tercatsircarst, estrer) 07-08, (E-frsrg) 15-16]
a) Fall b) Fill ¢) Feel d) fell Ans:c
vl VZ V3 Vl Vz V3
Flee (#im =a1) | Fled Fled Fly (sgr) Flew (%) Flown
Flow (eafew zem) | Flowed | F lowed | Overflow Overflowed Overflowed
218. The river has — its hanks. L LR S I ST TS ———p-—_
a) overflown b) overflowed ¢) overflew d) oveloaded Ans:b
219. Somellmes there was s0 much rain that the river — over the bridge. [CU 09-10]
a) flown b) flew ¢) has flown d) flowed @) has flown Ans:d
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220. Complete the sentenc

€ with the simple past tense of the verb ‘flow’:

g)h; water — dow'gvthe side of the hill. [SUST (A) 13-14]

21 “Tilee“;s : o b) flowed c) flow d) floated e fallen Ans:b
Ba I:i participle form of the verb “flow’ is — [BRDB it S fwi-se, IU G 17-18]
505 a) fle b) flew c) flowed d) flown Ans:c

5 overthrow

Some people had to/had tried to

b) overflowed
Overcome/overthrow (conquer-

€) overcame

escape in boats when the river --- its banks.

[DU (B) 99-00, NU (¥f¥=) 11-12]

d) overpowered

Ans:b

G T4
TATE 1O ST Bor) overpower (overcome-

defeat- *mifere Ft) overflow (brim over- &=t

wHeTrS 41)
223. The past participle form of “flee’ js [RU 06-07]
a) Flowed b) Falled ¢) Felt d) Fled Ans:d
224. Ihe enemy has (to flee) away. (<= sifery (ITR) (IU(C) 10-11]
a) ﬂee. b) flew c) fled d) fly Ans:c
225. The bird has — away. (1Rf Brg ciry) ' [RU 05-06, 3o B ST csai-20)]
a) flown b) fly o flied d) fled Ans:a
226. Fhoose the sentence with correct participle. [SUST (Al) 14-15]
a) The bird has flowed away b) The river has overflown the banks
€) The bird has fled away d) The river has overflowed the banks
e) The man has flown away Ans:d
Vi \£! \ \7 V, V;
Get (*neam) Got Got Lead (79% C7aT) Led Led
Grow (T F41) | Grew (&) | Grown Learn (c<) Learnt/ed | Learnt/ed
Hide (gfemamar) | Hid Hidden | Lean (GZ9 (%am) Leaned Leaned
Hold (x=1) Held Held Leave (9515 %41) Left Left
Kneel (2 coite =1t) | Knelt Knelt Lend (4@ () Lent Lent
Knit (¢3141) Knit Knit Light (sem =) | Lighted Lighted
Knock (Fersret) | Knocked | Knocked | Load (g <) Loaded Loaded
Know (=1/c5+) Knew (%8) | Known Loose (ot <4) Loosed Loosed
Leap (i) Leaped Leaped | Lose (@@ c&=) | Lost Lost

N.B. Go 9% past form Tt went 93 past participle (2 gone/been (1T gt iy feca sipi wed)

227. He lost his temper in public. The present form of ‘lost’ is - [RU (A) 13-14, (C) 19-20]
a) loose () b) loss ¢) lost d) lose (=) [IU (H) 17-18] Ans:d
228. What is the correct past participle of the verb ‘lead (fe)’? [JnU (B) 08-09]
a) Led (o) b) Leaded c¢) Lade d) Leaden Ans:a
Vl Vz V3 Vi V. V3
Hang (gETﬁ ) Hanged Hanged Hang (I8 =) Hung Hung

229. My roommate has —the photo of famous tennis player on a wall. [feom s @renfa-3s]

The picture was — o0

n the wall.

[RITITT GESTRR S-SRI LTI (CTFIIT)-0b, TG fraaet Sfvmetas fame)-so, JIKKNIU (AL) 18-19]

a) hanged b) to hang  ¢) hung d) to be hanged Ans:c

| ' 99
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230, 1 wanted the poster to —.

[suwn s .3, P Sipwr weeficeton el m‘m\]
[Ju (‘m) 09-]()]

The Principal desired the notice to ——.,
¢) be hung

W) be hang b) be hanged

231, Get the picture — in your room,

n) fastened b) hanged

232, The painting is — on the wall,

¢) put

(e

1 (to hang) the picture on the wall ycslcnlny.
¢) hanged

i) hang b) hunged

213, The accused was — for murder, (Sfyats wifics 3o )
The man was — for murder.

R) hung b) hunged
234, He — for murder.
a) hanged b) was hung
235. The shipmates of the Ancient Mariner cursed him
a) hanged b) hung
236. Choose the correct sentence.
a) He was hunged for murder,
©) He was hanged for murder.
g

237. Which one is correct?

¢) hanged

d) hung

Ang:¢

[sreeatsitetot Sfiersead A vy S-00)

d) hung
o ares et afioa.sy, CrgrATeT Bosatt gy N

[ Firtarer orewsifa anfobis agraEra mrmn_“]

¢) was hanged  d) was hunged

¢) hang

d) hanging

b) He has been hunged for murder.
d) He had been hunged for murder.

¢) We hung the picture on the wall.

238. Choose the correct sentence:

a) He hanged the shirt on the wall.
¢) He hunged the shirt on the wall.

Ans:q

i) hung e) None Ans:(
[t e (Faferra i)y

[ f*wrf-wm_m]

t) hang ¢) hanging Ans:c

(DU (A) 16-17)

Ans:c

and — the albatross around the neck,
[PUST B 16-17] Ans:b
(11" BCS, DU (B) 04-05, 72t SIAZaHf%-09, o1 o0,

R wERE-do, NU (fRwm) 12-13, 1U (¥) 07-08, (G) 13-14, st @l i (33 °7AT)-35]

Ans:c

[COU (B) 08-09]
a) We hanging the picture in the wall. b) We were hung the picture on the wall.

d) We hanged the picture on the wall.  Ans:c
[Arepn® R B e (Frfaa wfom)-ye)
b) He hung the shirt on the wall.
d) The shirt was hanged on the wall. Ans:b

VvV, V, V; Vi V, V;
Lie (farey zem) Lied Lied Lay (fg =, e | Laid Laid
Lie (wwn ere, fog =g @) | lay lain wC A, & Arer)

Lie/lied/lay/lain/lying @7 #ta preposition/adverb 301
f@® Lay/laid/laying 97 7ta noun/pronoun I |

(Active voice U CFE JTAMT)
(Active voice U CFTR YTIT)

| He lay on the bed in the last noon.

) 7 Toale [Aaite e Sota o i |

' He has lain in bed.

—) o7 e et IR |

j The hen has laid ten eggs.

) afiie Wb fox (aiterz |

Q' He laid the book on the table.

N &7 936 Gfarera orca e |

L

239. She usually — the baby down for sleep at this time. [rfs o e (i sfer)-3v]
a) lies b) lied ¢) lay d) lays Ans:d

240. 'Which spelling is correct? [BRUR (¥, fawst®) 09-10, - ferge-3Y]
a) layeing b) lieing ¢) lying d) lahying Ans:

241. He was so exhausted that he decided to — down for a while.[snf wics-ou st e SO-3)
You may — down for a nap as soon as you do your homework. [DU (A) 02-03

a) lay b) lie ¢) lain d) laid Ans?
MASTER
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242. He took a lot of care and —

g a) laid the table for his guests. [NSI @7 g firs =fia-38]
243, After the hury b) lead ¢) lied d) led Ans:a
<43, ., - ]t; r_nn icane, llprnnted trees — all over the ground. [RBr3fra sEAd ATA-3 )

‘ 744. Which ()“-1g b) laid €) were lying ) were laid Ans:c
244, N " cd oneis a past form? (e} 3 Bgwer anes (pATASIRE)-e]

‘ 245 Incal\c\' the b b) lay ‘3) put d) all of these Ans:d
s Th " ¢ chgnl:— on the floor. (Fyas amars v arars ormm) [537 forsas et (2)-5¢]

" TR WAS —in front of the door. (z3afd waeta s wey ferr) [so7 ersrs Fse-38]
Thlc }:jurod Woman was — at the side of the road. [wPree @ faasm #Hwd-on)
a) lai b) lying o) lay ) lic Ans:b

246. Choose the correct sentence,

a) Javed was so exhausted that he lain down for a sleep.
b) Javed was so exhausted that he had laid down for a sleep,
¢) Javed was so exhausted that he was lying down for a sleep.

(23" BCS, JnU (C) 07-08, BU (%) 14-15]

d) Javed was so exhausted that he will lay down for a sleep. Ans:c
247. How many eggs have our hens — this month? (a ot s s w3 fox ceraz) [14™ BCS]
The hen has — ten eggs. [TRE TEIECH e FEFE-0b, FERIA AT AfFwHA AT
The hen — an egg yesterday. [CU A 04-05, &t srenr o s #4a6i-20]
a) lain b) laid ¢) lay d) lied Ans:b
248. The nurse has — the baby in the crib. [CU (By.) 14-15]
a) lain b) lay ¢) laid - d) lied Ans:c
249. The boy — the paper on the desk. " [RU09-10]
. a) lay b) laid ¢) lied d) lain Ans:b
/ﬁ. The book that you see — on the table belongs to me. [CU (D) 04-05, 12-13, CVASU 13-14]
a) laid b) laying ¢) lying d) lain Ans:c
251. Albert Einstein's Theory of Relativity - the foundation of the possibility of time travel.
a) will lay b) laying ¢) laid d) lay [DU (A) 14-15] Ans:c
2527 I — your notebook on the table. [COU (B) 13-14]
a) have lain b) have lay ¢) have laid d) setting Ans:c
253. I (to lay) the book on the table. [RU (A3) 12-13]
a) laid b) lies c) lays d) lay Ans:a
254. The princess — down and slept for twenty years. (WT?I S AT 1 9= i)
a) lain b) lied ¢) lay d) laid [JU (C1) 15-16] Ans:c
255. The boy (to lie) on the floor yesterday. Choose the right form of verb. [45" BCS]
He (to lie) on the bed last night. [fafbfera Sopreard edet-3))
He (to lie) on the bed in the last noon. [RU 08-09, IU (C) 11-12]
a) lies b) lied ¢) lay d) layed Ans:c
256. The correct use of verb has been made in. [JnU (B) 09-10, NU (w=fa=) 09-10]
a) He laid the book on the table. b) He had lain the book on the table.
¢) He lay the book on the table. ) He lain the book on the table. Ans:a

. 1dentify the correct sentence. . [RU (smmfér fawara) 08-09]
a) Yesterday I laid in bed until noon b) Last Friday I lay my hands on the desk
¢) He was laying in the sun d) Now I lay me down to sleep Ans:d
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258. He has —in bed. - 8 oy Ll HWW
a) lai b) li ¢) lain : St
259. :{)blsll(:ave made y(l))l:l}lg?vn bed ﬂlla)llﬂw you nmst" = on it. [DU (A) 04-05, JnU (C)Oﬁ-nﬁ]
a) lay b) lic o) lain d)_'ﬂl_(LW‘ V,*‘A“‘m‘:b
v Vi Vi e tamad T
;’;ve (o =31) Rizvcd Riven Slip (#ft i) %Impcd ;:m\[;t—u!\
Ride (v91) Rode Ridden [ Smell (@t ¢ 5"“3"‘| . ne —
Ring (%%t qreeat) | Rang Rung Sow (T =0 Sowec éo‘)"kff\
Rise (Sfwe geat) | Rose Risen Speak (W T ip()kc Sp(- l?"_\
Run (GReItt) Ran Run Speed (FF® #41) Sped Spf:t -
See (cT3) Saw Seen Spell (I 1) SP?“ sp'L“ bl
Seck (s +) | Sought | Sought [ Spill (8°15 %) Spilt supl e
Sew (G711 F2) Sewed | Sewed, | Shear (Re® ¥) Sheared SI:::);Z 3
sewn ~\ . -
Sell (Rww == | Sold Sold Spoil (78 1) Spoiled Spoiled |
Send (o) Sent Sent Spring (e o) | Sprang Sprung
Shake (stet crat) | Shook Shaken | Stand (WISIA) Stood Stood
Shave (g =or) | Shaved | Shaved | Steal (pfa =) Stole Stolen
Spin (71 Fo7) Spun Spun Stick (1T 1) Stuck Stuck
Shine (/o= an) | Shone | Shone | Sting (% (¥IAN) | Stung Stung
Shrink(r@e =) | Shrank | Shrunk | Stink (7% Tgr) | Stank Stunk
Shoot (& =) Shot Shot Stride (It ¢&=T) Strode Stridden
Sing (1= ¥30) Sang Sung String (SIF &MITAT) | Strung Strung
Sink (gL INSH) Sank Sunk Strive (RN 1) Strove Striven
Sit (371) Sat Sat Swell (T @) Swelled Swelled
Slay (=31 %) Slew (%) | Slain Swim (e F6T) | Swam Swum
Slide (forerer zrear) | Slid Slid Swing (e AMe) | Swung Swung
Sling (Rt==F=1) | Slung Slung Swear (%X (@) | Swore Sworn
Slink (2 #re1) | Slunk | Slunk Sweep (G (7e7l) | Swept Swept
260. The present verb form of the word ‘sworn’ is- [BRUR C 12-13, IRsT (ISIE FE-THHS-35)
a) swore b) swor ¢) swered d) swear Ansid
261. The past participle of the verb ‘Swear’ is- [t TR S QT T SR FEE-53]
a) swore b) sworn ¢) sworne d) swear Ans:b
262. The past tense of the verb swing is -, (SO WiRwSTE CFOrTT-38)
#) Swing b) Swinged  ¢) Swung d) Swunged Ans:c
263. The past participle of the word ‘seek’ is- [ST® witmscs RS SSREWR-b]
The past tense of ‘seek (¢3ra, sremn)’ is- [RU (Law) 05-06, (%) 07-08, 08-09, 09-10]
a) secked b) sought (%) ¢) saught d) soughtt Ans:b
264. JWhich one is the past tense of ‘steal’? [NSI @3 Sfer 49)
o ;i: ito}eﬂ b) Stole ¢) Stoled d) None of these Ans:b
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265. ::jh:\:"::: P‘"'“ﬂll'_“,)": 'swim' is- [RU (E, fezang) 16-17]
266. Past participle of .S';‘;:,u;:-_ €) swung d) swumped Ans:b
Yoy [RU (E-frarg) 15-16]
) sang b) sung €) sin d) Ans:b
267. Past tense of the verb ‘shear’ s. sing ) song i 1.1]
a) Sheared [,) Shore U m | - (DU 00-01, '
268. What is the past form of csgeingrs) o0 @) Shom SRS
- pas 0':“] of String’? [RU (F-’ﬂﬁ'ﬁﬁ) 17-18]
a) Strang ,i)) Strong c) Strun @ Stringed Ansee
269. }Yhich one is the correct pa ¢ " & £) ‘rmge, 4
& Smell P pas par'tllciple of the w?ffl smell’?  [RU 09-10, (7f4..) 10-11]
270, The correst oase. ) Smelt ¢) Smeld dj Smelded Ans:b
% = past f(_)_rm of ‘slay’ is — (RU (2fe) 09-10]
o ?hsek:;]aest s b) slain ¢) slyed d) slew Ans:d
s participle form of ‘slay’ is - (IU () 12-13]
a) slane b) slain o) slyed d) slew Ans:b
272. The past participle of ‘Slide’ is — [KU (8w 51) 02-03, IU (H) 14-15, RBes eoami sfem-2e]
8) Slider b) Slad o) Sled dj slid Ans:d
/273. ChoPSe thf: correct verb form. (e wwer Wl TR ST TG AiH-0e]
. / a) stink, stinked, stinked b) stink, stanked, stanked
¢) stink, stancked, stancked d) stink, stank, stunk Ans:d
V; V, V; Vi Vierils | Vs
Tear (&3 c&=) | tore torn Wear (sfaxiw41) | wore worn
Thrive ' throve thriven Welcome welcomed | welcomed
(@ =T <) (ArS TR
Throw(fz== #=1) | threw (¥) thrown Weave (@) wove woven
Tread(»ma =merem) | trod trodden Weep (310 wept wept
Understand Understood | understood | Win (fete anear) won (s7¥) | won
(F7Te ~rn) Wind (SBIET) wound wound
Uphold (g «an) | upheld upheld Wring (CUI59ITt) wrung wrung
Undertake undertook | undertaken | Withhold withheld | withheld
(wTfarg &zt =) (GEIEEET))
Wake (czwer @at) | woke woke Wait (cfa &) waited waited
274. The past form of the word ‘tear’ is- [ TETECHT WIS HZHA T SETOR AoATIT-35)
a) teared b) torn c) tore d) tears Ans:c
275. Past form of ‘Wear”’ is- [t eferarfer sfireTa Rfeq om-35]
a) Weared b) Wore ¢) Worn d) Worned Ans:b
276. The past participle of ‘tear (Gl1)’ is — [@t sgRYE-o¢, PUST (B, fwm) 16-17]
a) teared b) torn ¢) torned d) tearing Ans:b
277. Which is the past form of the verb ‘wring’? [vb erstis fig-3o, fifeq W Gfese wiedl-sv]
a) Wrang b) Wrung ¢) Wranged d) Wringed Ans:b
278. What is the past form of ‘weave’? [MBSTU (D) 16-17]
a) wove b) weaven ¢) weayv d) weavt Ans:a
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i
. wﬁqwrmmwwrﬁwﬁmw* o ATE-0e, IU @)1
f ‘withhold’ is — [wis 713
279. Past form ol "withl . - ikheldad ij no past - ]

&) withholded
The past participle form of the w

.Y .
a) underlain
All three verbs are in past tense

280.

281.

b) withheld

b) underlay

;ii Spoke, Cost, Lefl

ord ‘underlie' i
¢) underlaid

S-
d) underlaided

b) Take, throw, Cut

3

Ans.

a
[1U () 16.19

d) Beat, Bite, Bear

E) Read, Set, Swim
(“nn fusing:
Vi T R T e R R o) Bk
Rise (3f& =neam) Rose | Risen Raise (8sten.3f =) | Raised
Arise (o1, Bg® eq) | Arose Arisen | | Rouse (sare #40) Roused
282. The prices of rice are— [28™ BCS, et oI ararE (Ffee)-se, W“‘ﬁmm.;,,]
The price of rice is— (ST AN IPIR) [ SPTITE GUHTT Aty
a) raising b) risen ¢) raised d) rising Ang;q
283. Are there any matters — from the minutes of the last meeting? [C1 T T 1. (PO).yq)
a) risen b) arisen ¢) arising d) arousing Ans:c
284. Onion prices have — too much this month. - [ 1@ (SAFEA)-0b, TS I (SO)-sy)
a) raised b) risen c) rise d) rose Ans:h

. He was so sound asleep that it was most difficult to — him.

285
o [ srteeT $fFa-ob, BSMRSTU (C) 14-15, (D) 15-16, R TaECE IR G-
a) raise b) rouse ¢) rise d) arise Ans:b
286. Itis our policy to deal with the problems as they — [RU (Law) 11-12]
a) arise b) raise ¢) rise d) rouse Ans:a
287. It was our policy to deal with the problems as they — [T Sf-)
a) arose b) rose ¢) raised d) roused AnS';]
@mm verb 43 past form 43R past participle 9 (JI 7t ARSI A | : ’
1 _ V, V; Vi ‘
Bét (iﬂ‘ﬁf 1) Bet Bet Read (1) I‘{[;ad 1‘173 d
Bid (= wrem) Bid Bid Rid (3= <) Rid =
Burst (G5 #ren) Burst Burst Set (F719 1) S o
Cast (e~ 2=2T) Cast Cast Shed (e S]e]t d -
Cost (_WTE=I &) Cost Cost Shut (3% ) She =
CI'.It (=T5T) Cut Cut Spread (=fSty =rer) - il
Y e—— = = e CIF.W-) : Spread . Spread |
LHun (ST =) Hurt Hurt Thrust (S5t Patspit | Spatlepl
&et (At gre) Let Let Broad S R Mo L
[Put Gy Put = T(: ;)a cast (*7&i5i +41) | Broadcast | Broadcast
u)ui { (caws G [ Ouit Bul = ec-ast (Bbfewe eivra 1) | Telecast | Telecast
: eset (CTaNs 1) Beset Beset |

288. The past participle of the verh ‘shut’
(et T & et e i st s, oot st e qw-e]

a) shuted b) shut
¢) shooted
MASTER - d) shoot Ansib
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